

Government of India Department of Telecommunications (Wireless Planning & Finance)

Demand Note No: 1000/8/2021-WF

Date of Issue: 05.08.2022

Due Date of Payment: 16.08.2022

To M/s Adani Data Networks Ltd. 9th Floor, Adani Corporate House, Shantigram, Nr. Vaishno Devi Circle, S.G. Highway, Khodiyar, Ahmedabad, Gujarat - 382421

Ref: NIA No. 1000/5/2021-WF dated 15th June, 2022 (read with amendment dated 30th June, 2022) and your application dated 07.07.2022.

Subject: Demand Note in r/o the Licensed Service Areas (LSAs) as per Annexure.

I am directed to say that the competent authority has approved the result of Auction of Spectrum held from 26.07.2022 to 01.08.2022 and therefore, this Demand Note is being issued under the provisions contained in the Section-6 of the above mentioned Notice Inviting Application (NIA).

- 2. As per the final results of auction, you have been allowed right to use spectrum as per the band-wise and LSA-wise details in Annexure. The total value (excluding Goods and Service Tax (GST)) is Rs. 211,86,36,993/- (Rupees Two-Hundred Eleven Crore Eighty-Six Lakh Thirty-Six Thousand Nine Hundred Ninety-Three only) which is payable by you.
- (i) Exclusion areas as communicated to you vide e-mail dated 25.07.2022 have been accounted for where ever applicable in accordance with section 6.1.3.
 - (ii) In the frequency range 25.5 27 GHz, a keep out zone of 2.7 km radius may need to be provided from a location to be specified in future in Gujarat and in Andaman & Nicobar Islands. Accordingly, the concerned assignee of spectrum as mentioned above may be required to relocate their transmitters as necessary, for which a pro-rata reduction in the total payment liability will be allowed w.e.f. date of such exclusion or date of relocation of transmitters, whichever is later.

17. V. Proveen

- 4. You may avail two options for making the payment:
 - i. Option 1: Full payment of Rs. 211,86,36,993/- (Rupees Two-Hundred Eleven Crore Eighty-Six Lakh Thirty-Six Thousand Nine Hundred Ninety-Three only) or part upfront payment (which can be a multiple of complete years with a minimum of two years). You will have the option of availing moratorium for the corresponding number of years for which the upfront payment has been made, and the balance amount shall be payable in equal annual instalments over the remaining period, payable in advance at the beginning of each year, after the period of moratorium if any, duly protecting the Net Present Value (NPV) of the bid amount at the applicable rate of interest. The annual instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA document.
 - ii. Option 2: Payment in 20 equal annual instalments of the bid amount, duly protecting the NPV of the bid amount at the applicable rate of interest, in advance at the beginning of the year. The first instalment payable is Rs. 18,94,62,303/- (Rupees Eighteen Crore Ninety-Four Lakh Sixty-Two Thousand Three-Hundred Three only). The balance 19 instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA documents.
- The above mentioned payments may be made through RTGS/NEFT as per O.M. dated 37-3/2022/LFA-I/SARAS New Dev dated 02.08.2022. (available on DoT website https://dot.gov.in/spectrum-management/2886 at S No. 21)
- 6. GST as applicable is payable by you on the demands raised above.
- 7. Payment should be made within 10 calendar days of issue of demand note.

(Venkata Praveen Pogiri) Director (WF)

Ph No. 23036215

1. V. Praveer 5/8/22

Encl: Annexure

Copy to:

- i) Wireless Advisor, DoT
- ii) DDG (AS)
- iii) DDG (LFP)
- iv) Director (WR)
- v) Director (Accounts-II) with a request to direct PAO (HQ) to book the bid amounts received under Head of Account (HoA) 127500-103-01-02 and also to confirm the receipt of payment to WPC wing.

				M/s Adani	Data Netwo	rks Ltd.			
Service Areas - 26 GHz Band Block Size : 50 MHz(Paired)	Total Spectrum won (MHz)	Total Blocks Won (in Number)	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Partia 1)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1- minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
Andhra Pradesh	50	1	285000000	Partial	1	284972930	284972930	28497293	25,484,133
Jujarat	100	2	250000000	Complete	2	250000000	500000000	50000000	44,713,253
Carnataka	50	1	200000000	Complete	1	20000000	200000000	20000000	17,885,301
Mumbai	100	2	390000000	Complete	2	390000000	780000000	78000000	69,752,675
Rajasthan	50	1	125000000	Complete	1	125000000	125000000	12500000	11,178,313
amil Nadu	50	1	230000000	Partial	1	228664063	228664063	22866406.3	20,448,628
otal	400	8	1480000000		8	1298636993	2118636993	211863699	189462303

M/s Adani Data Networks Ltd.									
Grand Total			8	1298636993	2118636993	211863699	189462303		

J. J. Planeau

8/

Hasama



Government of India Department of Telecommunications (Wireless Planning & Finance)

Demand Note No: 1000/8/2021-WF

Date of Issue: 05.08.2022

Due Date of Payment: 16.08.2022

To M/s Bharti Airtel Limited Airtel Center, Plot No.16, Udyog Vihar, Phase-IV, Gurugram-122 015, Haryana

Ref: NIA No. 1000/5/2021-WF dated 15th June, 2022 (read with amendment dated 30th June, 2022) and your application no. RP/FY 22-23/37/1009 dated 08.07.2022.

Subject: Demand Note in r/o the Licensed Service Areas (LSAs) as per Annexure.

I am directed to say that the competent authority has approved the result of Auction of Spectrum held from 26.07.2022 to 01.08.2022 and therefore, this Demand Note is being issued under the provisions contained in the Section-6 of the above mentioned Notice Inviting Application (NIA).

- 2. As per the final results of auction, you have been allowed right to use spectrum as per the band-wise and LSA-wise details in Annexure. The total value (excluding Goods and Service Tax (GST) is Rs. 43039,63,43,131/- (Rupees Forty-Three Thousand Thirty-Nine Crore Sixty-Three Lakh Forty-Three Thousand One-Hundred Thirty-One only) which is payable by you.
- (i) Exclusion areas as communicated to you vide e-mail dated 25.07.2022 have been accounted for where ever applicable in accordance with section 6.1.3.
 - (ii) In the frequency range 25.5 27 GHz, a keep out zone of 2.7 km radius may need to be provided from a location to be specified in future in Gujarat and in Andaman & Nicobar Islands. Accordingly, the concerned assignee of spectrum as mentioned above may be required to relocate their transmitters as necessary, for which a pro-rata reduction in the total payment liability will be allowed w.e.f. date of such exclusion or date of relocation of transmitters, whichever is later.

1. V. Thowear

- 4. You may avail two options for making the payment:
 - i. Option 1: Full payment of Rs. 43039,63,43,131/- (Rupees Forty-Three Thousand Thirty-Nine Crore Sixty-Three Lakh Forty-Three Thousand One-Hundred Thirty-One only) or part upfront payment (which can be a multiple of complete years with a minimum of two years). You will have the option of availing moratorium for the corresponding number of years for which the upfront payment has been made, and the balance amount shall be payable in equal annual instalments over the remaining period, payable in advance at the beginning of each year, after the period of moratorium if any, duly protecting the Net Present Value (NPV) of the bid amount at the applicable rate of interest. The annual instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA document.
 - ii. Option 2: Payment in 20 equal annual instalments of the bid amount, duly protecting the NPV of the bid amount at the applicable rate of interest, in advance at the beginning of the year. The first instalment payable is Rs. 3848,88,41,159/- (Rupees Three-Thousand Eight-Hundred Forty-Eight Crore Eighty-Eight Lakh Forty-One Thousand One-Hundred Fifty-Nine only). The balance 19 instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA documents.
- 5. The above mentioned payments may be made through RTGS/NEFT as per O.M. dated 37-3/2022/LFA-I/SARAS New Dev dated 02.08.2022. (available on DoT website https://dot.gov.in/spectrum-management/2886 at S No. 21)
- GST as applicable is payable by you on the demands raised above.

7. Payment should be made within 10 calendar days of issue of demand note.

(Venkata Praveen Pogiri)

Director (WF)

Ph No. 23036215

10/2 / species 6/1/2~

Encl: Annexure

Copy to:

- i) Wireless Advisor, DoT
- ii) DDG (AS)
- iii) DDG (LFP)
- iv) Director (WR)
- v) Director (Accounts-II) with a request to direct PAO (HQ) to book the bid amounts received under Head of Account (HoA) 127500-103-01-02 and also to confirm the receipt of payment to WPC wing.

				M/s	Bharti Airte	Ltd.			
Service Areas - 900 MHz Band Block Size : 5 MHz(Paired)	Total Spectru m won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete /Partial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal Instalments duly protecting the NPV) (Option 2)
Assam	3.8	19	112000000	Complete	19	112000000	2128000000	212800000	190299605
Jammu & Kashmir	5	25	32000000	the state of the s	25	32000000	800000000	80000000	71541205
North East	4	20	28000000		20	28000000	560000000	56000000	50078843
Total	12.8	64		The second secon	64	172000000	3488000000	348800000	311919653
No. of Service Areas	in which l	Blocks Wo	on	3					
			40/4//	OHIOHO ARK	es a la companya de l	M/s Bharti A	Airtel Ltd.		
Service Areas - 1800 MHz Band Block Size : 5 MHz(Paired)	Total Spectru m won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete	Winning Price (in Rs. Cr. Per Block) (Complete/Par	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2	Annual Instalment (in Rs.) (20 equal instalments duly protecting
					/Partial)	tial)		years)	the NPV) (Option 2)
Himachal Pradesh	5	25	28000000	Complete	THE RESIDENCE OF THE PARTY OF T	tial) 28000000	700000000	70000000	(Option 2)
	5	25 25	28000000 194000000		/Partial)		700000000 4850000000		(Option 2) 62598554
Himachal Pradesh				Complete	/Partial)	28000000		70000000	62598554 433718554
Himachal Pradesh Kolkata	5	25	194000000	Complete Complete	/Partial) 25 25	28000000 194000000	4850000000	70000000 485000000	62598554 433718554 849551807
Himachal Pradesh Kolkata Maharashtra	5	25 25	194000000 380000000	Complete Complete Complete	/Partial) 25 25 25	28000000 19400000 38000000	4850000000 9500000000	70000000 485000000 950000000	62598554 433718554 849551807 844186217
Himachal Pradesh Kolkata Maharashtra Mumbai	5 5 4	25 25 20	194000000 380000000 472000000	Complete Complete Complete Complete	25 25 25 20	28000000 194000000 380000000 472000000	4850000000 9500000000 9440000000	70000000 485000000 950000000 944000000	THE RESERVE TO SHARE THE PARTY OF THE PARTY
Himachal Pradesh Kolkata Maharashtra Mumbai Odisha	5 5 4 5.2	25 25 20 26 4	194000000 380000000 472000000 70350000	Complete Complete Complete Complete Complete	25 25 25 20 26	28000000 194000000 380000000 472000000 70350000	4850000000 9500000000 944000000 1829100000	70000000 485000000 950000000 944000000 182910000	62598554 433718554 849551807 844186217 163570022

of resource 12. V. Providence

						M/s Bharti Ai	rtel Ltd.		
Service Areas - 2100 MHz Band Block Size : 5 MHz(Paired)	Total Spectru m won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Part ial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
Bihar	5	1	3400000000	Complete	1	3400000000	3400000000	340000000	304050120
Delhi	5	1	11200000000	Complete	1	11200000000	11200000000	1120000000	1001576867
Gujarat	5	1	6250000000	Complete	1	6250000000	6250000000	625000000	558915662
Haryana	5	1	1700000000	Complete	1	1700000000	1700000000	170000000	152025060
Kerala	5	1	2400000000	Complete	1	2400000000	2400000000	240000000	214623614
West Bengal	5	1	1850000000	Complete	1	1850000000	1850000000	185000000	165439036
Total	30	6	26800000000		6	26800000000	26800000000	2680000000	2396630359
No. of Service	Areas in	which Bl	ocks Won	6					

Humanit J. J. Brasani

The state of the s						M/s Bharti Air	tel Ltd.			
Service Areas - 3300 MHz Band Block Size : 5 MHz(Paired)	Total Spectru m won (MHz)	Total Blocks Won (in Number)	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Part ial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)	
Andhra Pradesh	100	10	2600000000	Complete	10	2600000000	26000000000	2600000000	2325089156	
Assam	100	10	500000000		10	500000000	5000000000		447132530	
Bihar	100	10	1200000000		10	1200000000	12000000000		1073118072	
Delhi	100	10	4000000000		10	4000000000	40000000000		3577060240	
Gujarat	100	10	2300000000	And the second name of the second	10		23000000000	2300000000	2056809638	
Haryana	100	10	600000000	Annual Control of the	10	600000000	6000000000	600000000	536559036	
tion and the state of the state				Complete	7	200000000	1400000000	140000000	125197108	
Himachal Pradesh	100	10	200000000	Partial	3		595029719	A CONTRACTOR OF THE PARTY OF TH	53211429	
CONT. CO. CONT. CO. CO. CO. CO. CO. CO. CO. CO. CO. CO			100000000000000000000000000000000000000	Complete	7	The second secon	700000000		62598554	
Jammu & Kashmir	100	10	100000000	Partial	3		217824441	21782444	19479279	
22 - 2 0	10000		CONTRACTOR OF THE PARTY OF THE	Complete	7		12600000000		1126773976	
Karnataka	100	10	1800000000	Partial	3		5371077018	537107702	480316651	
		12		Complete	7	900000000	6300000000		563386988	
Kerala	100	10	900000000	Partial	3		2584057380		231083223	
Kolkata	100	10	1500000000		10	1500000000	150000000000	1500000000	1341397590	
	100			Complete	7	1300000000	9100000000	910000000	813781205	
Madhya Pradesh	100	10	1300000000	Partial	3	The second secon	3822854039	382285404	341864480	
Maharashtra	100	10	2900000000	Complete	10	The second secon	290000000000	2900000000	2593368674	
Mumbai	100	10	3500000000		10	3500000000	35000000000	3500000000	3129927710	
				Complete	4	100000000	400000000	40000000	35770602	
North East	100	10	100000000		3	The second secon	293966868	29396687	26288430	
				Partial	3		291315435	29131544	26051321	
Odisha	100	10	500000000		10		5000000000	500000000	447132530	
Punjab	100	10	900000000		10	900000000	9000000000	900000000	804838554	
	100000			Complete	7	1100000000	7700000000	770000000	688584096	
Rajasthan	100	10	1100000000	Partial	3		3291653578	329165358	294361078	
Tamilnadu	100	10	2100000000	Complete	10	2100000000	21000000000	2100000000	1877956626	
Uttar Pradesh (East)	100	10	1400000000	Complete	10	1400000000	14000000000	1400000000	1251971084	
	100	10	1200000000	Complete	7	1300000000	9100000000	910000000	813781205	
Uttar Pradesh (West)	100	10	1300000000	Partial	3	1275509787	3826529360	382652936	342193151	

Hames J. J. Provenie

No. of Service Areas in which Blocks Won		22							
Total	2200	220	31700000000		220	39363372979	316590118938	31659011895	28311548172
West Bengal	100	10	900000000	Partial	3	898603700	2695811100	269581110	241076968
West Bengal	100	10	900000000	Complete	7	900000000	6300000000	630000000	563386988

9

+ Reserve

7. Villaw Com

						M/s Bharti Air	tel Ltd.		
Service Areas - 26 GHz Band Block Size : 5 MHz(Paired)	Total Spectru m won (MHz)	Total Blocks Won (in Number)	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Part ial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (n Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
Andhra Pradesh	800	16	285000000	Partial	16	284972930	4559566879	455956687.9	407746135
Assam	800	16	50000000	Complete	16	50000000	800000000	80000000	71541205
Bihar	800	16	135000000		16	135000000	2160000000	216000000	193161253
Delhi	800	16	445000000	Partial	16	444015019	7104240310	710424031	635307389
Gujarat	800	16	250000000	Complete	16	250000000	4000000000	400000000	357706024
Haryana	800	16	65000000	Complete	16	65000000	1040000000	104000000	93003566
Himachal Pradesh	800	16	25000000	Complete	16	25000000	400000000	40000000	35770602
Jammu & Kashmir	800	16	15000000	Complete	16	15000000	240000000	24000000	21462361
Karnataka	800	16	200000000	Complete	16	200000000	3200000000	320000000	286164819
Kerala	800	16	95000000	Complete	16	95000000	1520000000	152000000	135928289
Kolkata	800	16	160000000	Complete	16	160000000	2560000000	256000000	228931855
Madhya Pradesh	800	16	145000000	Complete	16	145000000	2320000000	232000000	207469494
Maharashtra	800	16	315000000	Complete	16	315000000	5040000000	504000000	450709590
Mumbai	800	16	390000000	Complete	16	390000000	6240000000	624000000	558021397
North East	800	16	15000000	Complete	16	15000000	240000000	24000000	21462361
Odisha	800	16	60000000	Complete	16	60000000	960000000	96000000	85849446
Punjab	800	16	100000000	Complete	16	100000000	1600000000	160000000	143082410
Rajasthan	800	16	125000000	Complete	16	125000000	2000000000	200000000	178853012
Tamilnadu	800	16	230000000	Partial	16	228664063	3658625004	365862500	327178051
Uttar Pradesh (East)	800	16	150000000	Complete	16	150000000	2400000000	240000000	214623614
Ottair Fragesii '	800	16	145000000	Complete	16	145000000	2320000000	232000000	207469494
West Bengal	800	16	95000000	Complete	16	95000000	1520000000	152000000	135928289
Total		352	3495000000		352	3492652012	55882432193	5588243219	4997370656
No. of Servi	ce Areas i	n which Blo	cks Won	22					

M/s Bharti Airtel Ltd.								
Grand Total	767	71301547991	430396343131	43039634314	38488841159			

6/

Hama



Government of India Department of Telecommunications (Wireless Planning & Finance)

Demand Note No: 1000/8/2021-WF

Date of Issue: 05.08.2022

Due Date of Payment: 16.08.2022

To M/s Reliance Jio Infocomm Limited D-7, Dhawandeep Building, 6, Jantar Mantar Road New Delhi – 110001

Ref: NIA No. 1000/5/2021-WF dated 15th June, 2022 (read with amendment dated 30th June, 2022) and your application no. RJIL/DoT/2022-23 /131 dated 08.07.2022.

Subject: Demand Note in r/o the Licensed Service Areas (LSAs) as per Annexure.

I am directed to say that the competent authority has approved the result of Auction of Spectrum held from 26.07.2022 to 01.08.2022 and therefore, this Demand Note is being issued under the provisions contained in the Section-6 of the above mentioned Notice Inviting Application (NIA).

- 2. As per the final results of auction, you have been allowed right to use spectrum as per the band-wise and LSA-wise details in Annexure. The total value (excluding Goods and Service Tax (GST) is Rs. 87946,93,76,666/- (Rupees Eighty-Seven Thousand Nine-Hundred Forty-Six Crore Ninety-Three Lakhs Seventy-Six Thousand Six-Hundred Sixty-Six only) which is payable by you.
- (i) Exclusion areas as communicated to you vide e-mail dated 25.07.2022 have been accounted for where ever applicable in accordance with section 6.1.3.
 - (ii) In the frequency range 25.5 27 GHz, a keep out zone of 2.7 km radius may need to be provided from a location to be specified in future in Gujarat and in Andaman & Nicobar Islands. Accordingly, the concerned assignee of spectrum as mentioned above may be required to relocate their transmitters as necessary, for which a pro-rata reduction in the total payment liability will be allowed w.e.f. date of such exclusion or date of relocation of transmitters, whichever is later.

17. V. 1780 VOOL

- 4. You may avail two options for making the payment:
 - i. Option 1: Full payment of Rs. 87946,93,76,666/- (Rupees Eighty-Seven Thousand Nine-Hundred Forty-Six Crore Ninety-Three Lakhs Seventy-Six Thousand Six-Hundred Sixty-Six only) or part upfront payment (which can be a multiple of complete years with a minimum of two years). You will have the option of availing moratorium for the corresponding number of years for which the upfront payment has been made, and the balance amount shall be payable in equal annual instalments over the remaining period, payable in advance at the beginning of each year, after the period of moratorium if any, duly protecting the Net Present Value (NPV) of the bid amount at the applicable rate of interest. The annual instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA document.
 - ii. Option 2: Payment in 20 equal annual instalments of the bid amount, duly protecting the NPV of the bid amount at the applicable rate of interest, in advance at the beginning of the year. The first instalment payable is Rs. 7864,78,73,492/- (Rupees Seven-Thousand Eight-Hundred Sixty-Four Crore Seventy-Eight Lakhs Seventy-Three Thousand Four-Hundred Ninety-Two only). The balance 19 instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA documents.
- 5. The above mentioned payments may be made through RTGS/NEFT as per O.M. dated 37-3/2022/LFA-I/SARAS New Dev dated 02.08.2022. (available on DoT website https://dot.gov.in/spectrum-management/2886 at S No. 21)
- 6. GST as applicable is payable by you on the demands raised above.
- Payment should be made within 10 calendar days of issue of demand note.

(Venkata Praveen Pogiri)

(Venkata Praveen Pogiri) Director (WF)

Ph No. 23036215

Encl: Annexure

Copy to:

- i) Wireless Advisor, DoT
- ii) DDG (AS)
- iii) DDG (LFP)
- iv) Director (WR)
- v) Director (Accounts-II) with a request to direct PAO (HQ) to book the bid amounts received under Head of Account (HoA) 127500-103-01-02 and also to confirm the receipt of payment to WPC wing.

			N N	1/s RJIO Lt	d.				
Service Areas - 700 MHz Band Block Size : 5 MHz(Paired)	Total Spectr um Won (in MHz)	Total Block s Won (in Numb er)	Winning Price (in Rs. Cr. Per Block)	Complete/ Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
Andhra Pradesh	10	2	15900000000	Complete	2	15900000000	31800000000	3180000000	284376289
Assam	10	2	2850000000	Complete	2	2850000000	5700000000	570000000	509731084
Bihar	10	2	7250000000	Complete	2	7250000000	14500000000	1450000000	1296684337
Delhi	10	2	25450000000	Complete	2	25450000000	50900000000	5090000000	455180915
Gujarat	10	2	141000000000	Complete	2	14100000000	28200000000	2820000000	2521827469
Haryana	10	2	3550000000	Complete	2	3550000000	7100000000	710000000	634928193
Himachal Pradesh	10	2	1300000000	Complete	2	1300000000	2600000000	260000000	232508916
Jammu & Kashmir	10	2	800000000	Complete	2	800000000	1600000000	160000000	143082410
Karnataka	10	2	11000000000	Complete	2	11000000000	22000000000	2200000000	1967383132
Kerala	10	2	5500000000	Complete	2	5500000000	11000000000	1100000000	983691566
Kolkata	10	2	8650000000	Complete	2	8650000000	17300000000	1730000000	1547078554
Madhya Pradesh	10	2	7800000000	Complete	2	7800000000	15600000000	1560000000	1395053494
Maharashtra	10	2	17950000000	Partial	2	17833353273	35666706546	3566670655	3189548947
Mumbai	10	2	235000000000	Complete	2	23500000000	47000000000	4700000000	4203045782
North East	10	2	750000000	Complete	2	750000000	1500000000	150000000	134139759
Odisha	10	2	3100000000	Complete	2	3100000000	6200000000	620000000	554444337
Punjab	10	2	5600000000	Complete	2	5600000000	11200000000	1120000000	1001576867
Rajasthan	10	2	7300000000	Complete	2	7300000000	14600000000	1460000000	1305626988
Tamil Nadu	10	2	12650000000	Complete	2	12650000000	25300000000	2530000000	2262490602
Uttar Pradesh (East)	10	2	8550000000	Complete	2	8550000000	17100000000	1710000000	1529193253
Uttar Pradesh (West)	10	2	7700000000	Complete	2	7700000000	15400000000	1540000000	1377168192
West Bengal	10	2	5100000000	Complete	2	5100000000	10200000000	1020000000	912150361
Total	220	44					392466706546	39246670655	35096926289
No. of Service Areas i	n which B	locks W	/on	22					





7.J. Prodect

					M/s RJIO Lt	d.			
Service Areas - 800 MHz Band Block Size : 1.25 MHz(Paired)	Total Spectr um Won (in MHz)	Total Block s Won (in Numb er)	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/ Partial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
	3.75	4		Complete	3	625000000	1875000000	187500000	167674699
Assam	0.75	. 4	625000000	Partial (G B)	1	375000000	375000000	37500000	33534940
	3.75	4		Complete	3	175000000	525000000	52500000	46948916
Jammu & Kashmir	0.75	7	175000000	Partial (G B)	1	105000000	105000000	10500000	9389783
	3.75	4		Complete	3	162500000	487500000	48750000	43595422
North East	0.75	-	162500000	Partial (G B)	1	97500000	97500000	9750000	8719084
	3.75	4		Complete	3	1662500000	4987500000	498750000	446014699
Uttar Pradesh (West)	0.75	4	1662500000	Partial (G B)	1	997500000	997500000	99750000	89202940
Total	14.25	16			16		9450000000	945000000	845080483
No. of Service Areas i	of Service Areas in which Blocks Won								

8/

Haward

J. J. Pierren

	M/s RJIO Ltd.												
Service Areas - 1800 MHz Band Block Size : 0.2 MHz(Paired)	Total Spectr um Won (in MHz)	Total Block s Won (in Numb er)		Complete/ Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete/ Partial)	Production of the Party Company of the Party Compan	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)				
Gujarat	10	50	300000000	Complete	50	300000000	15000000000	1500000000	1341397590				
Madhya Pradesh	10	50	176000000	Complete	50	176000000	8800000000	880000000	786953253				
Maharashtra	10	50	380000000	Complete	50	380000000	19000000000	1900000000	1699103614				
Odisha	10	50	70350000	Complete	50	70350000	3517500000	351750000	314557735				
Rajasthan	10	50	150000000	Complete	50	150000000	7500000000	750000000	670698795				
Uttar Pradesh (East)	10	50	329173000	Complete	50	329173000	16458650000	1645865000	1471839563				
Total	60	300			300		70276150000	7027615000	6284550550				

8/

Parent

6284550550

	M/s RJIO Ltd.												
Service Areas - 3300 MHz Band Block Size : 10 MHz(Paired)	Total Spectr um Won (in MHz)	Total Block s Won (in Numb er)	Winning Price (in Rs. Cr. Per Block)	Complete/ Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)				
Andhra Pradesh	100	10	2600000000	Complete	10	2600000000	26000000000	2600000000	2325089156				
Assam	100				10				447132530				
Bihar	100				10				1073118072				
Delhi	100			and the same of th	10				3577060240				
Gujarat	100	10			10				2056809638				
Haryana	100	10	The second secon	And the second second	10	600000000	6000000000	600000000	536559036				
Himachal Pradesh	130	13	200000000	Complete	13	200000000	2600000000	260000000	232508916				
Jammu & Kashmir	130	13	100000000	Complete	13	100000000	1300000000	130000000	116254458				
Karnataka	130	13	1800000000	Complete	13	1800000000	23400000000	2340000000	2092580240				
Kerala	130	13	900000000	Complete	13	900000000	11700000000	1170000000	1046290120				
Kolkata	100	10	1500000000	Complete	10	1500000000	15000000000	1500000000	1341397590				
Madhya Pradesh	130	13	1300000000	Complete	13	1300000000	16900000000	1690000000	1511307951				
Maharashtra	100	10	2900000000	Complete	10	2900000000	29000000000	2900000000	2593368674				
Mumbai	100	10	3500000000	Complete	10	3500000000	35000000000	3500000000	3129927710				
North East	130	13	100000000	Complete	13	100000000	1300000000	130000000	116254458				
Odisha	100	10	500000000	Complete	10	500000000	5000000000	500000000	447132530				
Punjab	100	10	900000000	Complete	10	900000000	9000000000	900000000	804838554				
Rajasthan	130	13	1100000000	Complete	13	1100000000	14300000000	1430000000	1278799036				
Tamilnadu	100	10	2100000000	Complete	10	2100000000	21000000000	2100000000	1877956626				
Uttar Pradesh (East)	100	10	1400000000	Complete	10	1400000000	14000000000	1400000000	1251971084				
Uttar Pradesh (West)	130	13	1300000000	Complete	13	1300000000	16900000000	1690000000	1511307951				
West Bengal	100	10	900000000	Complete	10	900000000	9000000000	900000000	804838554				
Total	2440	244			244		337400000000	33740000000	30172503124				
No. of Service Areas in which Blocks Won				22		-/- FF2 - 1							

Of Hearing

P.J. Rayear

					M/s RJIO Ltd	1.			
Service Areas - 26 GHz Band Block Size : 50 MHz(Paired)	Total Spectr um Won (in MHz)	Total Block s Won (in Numb er)	Winning Price (in Rs. Cr. Per Block)	Complete/P artial Spectrum availability	Total Blocks Won (in Number) (Complete/ Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
				Complete	10	285000000	2850000000	285000000	254865542
Andhra Pradesh	1000	20	285000000		10			284972930	254841334
Assam	1000	20			20			100000000	
Bihar	1000	20			20	The second secon		270000000	241451566
				Complete	10		4450000000	445000000	397947952
Delhi	1000	20	445000000	the state of the s	10			444015019	397067118
Gujarat	1000	- Company			20		5000000000	500000000	447132530
Harvana	1000	20			20		1300000000	130000000	116254458
Himachal Pradesh	1000	20			20		500000000	50000000	44713253
Jammu & Kashmir	1000	20	CAMP BOOK IN LES		20	The second secon		30000000	26827952
Karnataka	1000	20		The second secon	20			400000000	357706024
Kerala	1000		and the second s		20		1900000000	190000000	169910361
Kolkata	1000	20	35 25 07 75 35 05 05		20		3200000000	320000000	286164819
Madhya Pradesh	1000		The second secon		20	145000000	2900000000	290000000	259336867
Maharashtra	1000				20		6300000000	630000000	563386988
Mumbai	1000		the second section is a second section in the second section in		20		7800000000	780000000	697526747
North East	1000	The state of the s			20	The second secon	300000000	30000000	26827952
Odisha	1000	-			20	The second secon	1200000000	120000000	107311807
Punjab	1000	20			20		2000000000	200000000	178853012
Rajasthan	1000	20			20		2500000000	250000000	223566265
				Complete	10		2300000000	230000000	205680964
Tamilnadu	1000	20	230000000		10	The state of the s	2286640627	228664063	204486282
Uttar Pradesh (East)	1000	20	150000000	A CONTRACTOR OF THE PARTY OF TH	20		3000000000	Annual	268279518
Uttar Pradesh (West)	1000	20			20		2900000000	290000000	259336867
West Bengal	1000				20		1900000000	190000000	169910362
Total	22000				440		69876520120	6987652012	6248813046
No. of Service Areas in which Blocks Won				22					

\$

Haven

7. V. Provasov

	M/s RJIO Ltd.	===Y====*	

X

Herene

7. V. Province



Government of India Department of Telecommunications (Wireless Planning & Finance)

Demand Note No: 1000/8/2021-WF

Date of Issue: 05.08.2022

Due Date of Payment: 16.08.2022

To M/s Vodafone Idea Limited 7th Floor, 'Konnectus', Bhavbhuti Marg, Opposite New Delhi Railway Station, New Minto Bridge, New Delhi- 110002

Ref: NIA No. 1000/5/2021-WF dated 15th June, 2022 (read with amendment dated 30th June, 2022) and your application dated 08.07.2022.

Subject: Demand Note in r/o the Licensed Service Areas (LSAs) as per Annexure.

I am directed to say that the competent authority has approved the result of Auction of Spectrum held from 26.07.2022 to 01.08.2022 and therefore, this Demand Note is being issued under the provisions contained in the Section-6 of the above mentioned Notice Inviting Application (NIA).

- 2. As per the final results of auction, you have been allowed right to use spectrum as per the band-wise and LSA-wise details in Annexure. The total value (excluding Goods and Service Tax (GST) is Rs. 18786,25,19,989/- (Rupees Eighteen-Thousand Seven-Hundred Eighty-Six Crore Twenty-Five Lakh Nineteen-Thousand Nine-Hundred Eighty-Nine only) which is payable by you.
- (i) Exclusion areas as communicated to you vide e-mail dated 25.07.2022 have been accounted for where ever applicable in accordance with section 6.1.3.
 - (ii) In the frequency range 25.5 27 GHz, a keep out zone of 2.7 km radius may need to be provided from a location to be specified in future in Gujarat and in Andaman & Nicobar Islands. Accordingly, the concerned assignee of spectrum as mentioned above may be required to relocate their transmitters as necessary, for which a pro-rata reduction in the total payment liability will be allowed w.e.f. date of such exclusion or date of relocation of transmitters, whichever is later.

- 4. You may avail two options for making the payment:
 - i. Option 1: Full payment of Rs. 18786,25,19,989/- (Rupees Eighteen-Thousand Seven-Hundred Eighty-Six Crore Twenty-Five Lakh Nineteen-Thousand Nine-Hundred Eighty-Nine only) or part upfront payment (which can be a multiple of complete years with a minimum of two years). You will have the option of availing moratorium for the corresponding number of years for which the upfront payment has been made, and the balance amount shall be payable in equal annual instalments over the remaining period, payable in advance at the beginning of each year, after the period of moratorium if any, duly protecting the Net Present Value (NPV) of the bid amount at the applicable rate of interest. The annual instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA document.
 - ii. Option 2: Payment in 20 equal annual instalments of the bid amount, duly protecting the NPV of the bid amount at the applicable rate of interest, in advance at the beginning of the year. The first instalment payable is Rs. 1679,98,88,770/- (Rupees One-Thousand Six-Hundred Seventy-Nine Crore Ninety-Eight Lakh Eighty-Eight Thousand Seven-Hundred Seventy only). The balance 19 instalments shall become due and payable on the Effective Date anniversary of each following year as per terms & conditions in NIA documents.
- The above mentioned payments may be made through RTGS/NEFT as per O.M. dated 37-3/2022/LFA-I/SARAS New Dev dated 02.08.2022. (available on DoT website https://dot.gov.in/spectrum-management/2886 at S No. 21)
- GST as applicable is payable by you on the demands raised above.
- 7. Payment should be made within 10 calendar days of issue of demand note.

(Venkata Praveen Pogiri)

Director (WF)

Ph No. 23036215

Encl: Annexure

Copy to:

- i) Wireless Advisor, DoT
- ii) DDG (AS)
- iii) DDG (LFP)
- iv) Director (WR)
- v) Director (Accounts-II) with a request to direct PAO (HQ) to book the bid amounts received under Head of Account (HoA) 127500-103-01-02 and also to confirm the receipt of payment to WPC wing.

						M/s Vodafo	ne Idea Ltd.		
Service Areas - 1800 MHz Band Block Size : 0.2 MHz(Paired)	Total Spectr um won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete /Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting th NPV) (Option 2)
Andhra Pradesh	3.4	17	344000000	Complete	17	344000000	5848000000	584800000	52296620
Total	3.4	17	344000000		17	344000000	5848000000	584800000	52296620
No. of Service A	reas in	which Bl	ocks Won	1					
						M/- W- d- C-	. 74 744		
	Contract of the Contract of th			- Contraction		M/s Vodafor	ne Idea Ltd.		
Service Areas - 2100 MHz Band Block Size : 5 MHz(Paired)	Total Spectr um won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete /Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)
Karnataka	5	1	5000000000	Complete	1	5000000000	5000000000	500000000	44713253
		1				5000000000	5000000000	50000000	447132530



Heavard

17. V. Proween

	The	The second second second	M/s Vodafone Idea Ltd.										
Service Areas - 2500 MHz Band Block Size : 5 MHz(Paired)	Total Spectr um won MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete /Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)				
Andhra Pradesh	10	1	5100000000	Complete	1	5100000000	5100000000	510000000	456075181				
Punjab	10	1	1400000000	Complete	1	1400000000	1400000000	140000000	125197108				
Total	20	2	6500000000		2	6500000000	6500000000	650000000	581272289				

d/

of Reserve

17. V. Proveso

×	M/s Vodafone Idea Ltd.										
Service Areas - 3300 MHz Band Block Size : 5 MHz(Paired)	Total Spectr um won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete /Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)		
Andhra Pradesh	50	5	2600000000	Complete	5	2600000000	13000000000	1300000000	1162544578		
Bihar	50	5	1200000000	Complete	5	1200000000	6000000000	600000000	536559036		
Delhi	50	5	4000000000	Complete	5	4000000000	20000000000	2000000000	1788530120		
Gujarat	50	5	2300000000	Complete	5	2300000000	11500000000	1150000000	1028404819		
Haryana	50	5	600000000	Complete	5	600000000	3000000000	300000000	268279518		
Karnataka	50	5	1800000000	Complete	5	1800000000	9000000000	900000000	804838554		
Kerala	50	5	900000000	Complete	5	900000000	4500000000	450000000	402419277		
Kolkata	50	5	1500000000	Complete	5	1500000000	7500000000	750000000	670698795		
Madhya Pradesh	50	5	1300000000	Complete	5	1300000000	6500000000	650000000	581272289		
Maharashtra	50	5	2900000000	Complete	5	2900000000	14500000000	1450000000	1296684337		
Mumbai	50	5	3500000000	Complete	5	3500000000	17500000000	1750000000	1564963855		

91

Harama

1. V. Provised

No. of Service A	reas in wh	ich Blo	cks Won	17					
Total	850	85	30300000000		85	30275509787	151377548933	15137754893	13537165288
West Bengal	50	5	900000000	Complete	5	900000000	4500000000	450000000	402419277
Uttar Pradesh (West)	50	5	1300000000	Partial	5	1275509787	6377548933	637754893	570321918
Uttar Pradesh (East)	50	5	1400000000	Complete	5	1400000000	7000000000	700000000	625985542
Tamilnadu	50	5	2100000000	Complete	5	2100000000	10500000000	1050000000	938978313
Rajasthan	50	5	1100000000	Complete	5	1100000000	5500000000	550000000	491845783
Punjab	50	5	900000000	Complete	5	900000000	4500000000	450000000	402419277

A

Herene

17. V. November

S	M/s Vodafone Idea Ltd.											
Service Areas - 26 GHz Band Block Size : 5 MHz(Paired)	Total Spectr um won (MHz)	Total Blocks Won (in Number	Winning Price (in Rs. Cr. Per Block)	Complete /Partial Spectrum availabilit y	Total Blocks Won (in Number) (Complete /Partial)	Winning Price (in Rs. Cr. Per Block) (Complete/Par tial)	Total Winning Amount Payable (in Rs.)	Minimum upfront Payment (in Rs.) (Option 1 - minimum 2 years)	Annual Instalment (in Rs.) (20 equal instalments duly protecting the NPV) (Option 2)			
Andhra Pradesh	200	4	285000000	Complete	1	285000000	285000000	28500000	25486554			
				Partial	3	284972930	854918790	85491879	76452400			
Delhi	200	4	445000000	Partial	4	444015019	1776060078	177606008	158826847			
Gujarat	450	9	250000000	Complete	9	250000000	2250000000	225000000	201209638			
Haryana	400	8	65000000	Complete	8	65000000	520000000	52000000	46501783			
Karnataka	200	4	200000000	Complete	4	200000000	800000000	80000000	71541205			
Kerala	800	16	95000000	Complete	16	95000000	1520000000	152000000	135928289			
Kolkata	200	4	160000000	Complete	4	160000000	640000000	64000000	57232964			
Madhya Pradesh	400	8	145000000	Complete	8	145000000	1160000000	116000000	103734747			
Maharashtra	400	8	315000000	Complete	8	315000000	2520000000	252000000	225354795			
Mumbai	200	4	390000000	Complete	4	390000000	1560000000	156000000	139505349			
Punjab	300	6	100000000	Complete	6	100000000	600000000	60000000	53655904			

W

Haseman

J. Po av com

No. of Service A	reas in w	hich Blo	cks Won	16		The last last			
Total	5350	107	3195000000		107	3707652012	19136971056	1913697106	1711352456
West Bengal	400	8	95000000	Complete	8	95000000	760000000	76000000	67964145
Uttar Pradesh (West)	350	7	145000000	Complete	7	145000000	1015000000	101500000	90767904
Uttar Pradesh (East)	250	5	150000000	Complete	5	150000000	750000000	75000000	67069879
		300 6	230000000	Partial	3	228664063	685992188	68599219	61345885
Tamilnadu	300			Complete	3	230000000	690000000	69000000	61704289
Rajasthan	300	6	125000000	Complete	6	125000000	750000000	75000000	67069879

M/s Vodafone Idea Ltd.									
Grand Total				212	45827161799	187862519989	18786251999	16799888770	

Ø/

Harany

J.J. Borne